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420
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< 64,642
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02 2ltF &2 X 430,944 330,612 100,332
O8w 2R=4 X3 AL (5,532)
430,944,000 » 14! 430,944
J| 301,660
< 64,642
Al 64,642
=24 24,957 0 24,957
= 20,045
< 1,475
Al 3,437
301 et a3z 24,957 0 24,957
= 20,045
< 1,475
Al 3,437
12 JIE 243 24,957 0 24,957
O&ME243(1005) 24,957 ,000& = 14! 24,957
= 20,045
< 1,475
Al 3,437
Es NI 2el 1,199,730 1,648,931 A 449,201
= 106,504
= 250,000
Al 843,226
HUXIS SHEHE B35 1,199,730 1,648,931 A 449,201
= 106,504
< 250,000
Al 843,226
OIUX Bt & otdpte] 88 16,599 8,010 8,589
201 Let24d] 13,950 5,400 8,550
01 At 22/l 5,140 5,140 0
Oger==EH| 5,140
— A OtN ¥ AR RSEN EES NA
200& *2,000F 23] 800
—UXESY 228 S+ MH 1,800
- HAITHES 50,0003 44 2= 33l 600
FWE 100,000 *4JH A %33 1,200
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2,000& 5404 2 53] 540
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—ATHMNUXIAIE SA2Zeibl(EHYE B
g95) 855,000,000 *1% 8,550
202 44l 2,649 2,610 39
01 = LH 4 Hi 2,649 2,610 39
Ol XIZe & AHHNUHX SRFE /A32E
L SN 220 264,800 x2H +33] 1,589
OJA, A9, ®J| 2@ 428l 93s &
A 2204l 264,800 x2H »23] 1,060
NEAFEFZNUXII=d LS 100,000 0 100,000
402 RIZFXt20l ™ 100,000 0 100,000
01 RIZEAt 22X 100,000 0 100,000
ONGHBHNUXIIsE A EX
100,000, 000& * 14! 100,000
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< 250,000
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402 RIZ2ER201 ™ 950,000 700,000 250,000
= 250,000
Al 700,000
01 RIZERI2E X 950,000 700,000 250,000
OZEY ZANNASS EXAMY XE
950,000,000 » 14! 950,000
< 250,000
Al 700,000
NEIE JbAAEMNE X3A 133,131 174,921 241,790
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Al 26,627
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= 106,504
Al 26,627
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— 2A gXZ2A(EERY S)
330,000 *2CH *4 3] 2,640
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